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1. Candidates should write their Name, Roll Number etc" only in the space provided in the fl1'

leaf and NOT in any other sheet.

2. The Question paper contains L00 questions
Part i - 35 questions - General Knowledge
Part II - 25 questions - General English

, Part III - 40 questions - Arithmetic
3. All questions are compulsory.
4. Each question carries l" mark.
5. There shall be no negative rnarks for wrong answers.
6. No corrections f over writings are permitted. If found, the same will not be evaluated.

PART I. GENERAL KNOWLEDGE

Q.1. The World Environment Dav is celebrated throughout the world on ---- every year.

(A) Mav 8 (B)Iune 5 (C)Iu1y 11 (D) August 27

Q.2. Approximately what portion of the world's population resides in india?

(A)One-third (B)One-fourth (C)One-fifth (D) One-sixth

Q.3. 'Manas' Tiger Sanctuary' is in....

(A) Rajasthan (B)Assam (C) Madhya Pradesh (D)Uttar Pradesh

Q.4. Decibel is the unit of....

(A) Frequency (B)Waveiength (C)Sound (D) Luminous Intensity

Q.5. lVhich of the following trains is India's first certified ISO-9001 train?

(A) AP Express (B) Magadha Exp (C) Bhopal Exp (D) Mumbai-Delhi Exp

Q.6. Which Indian state has the least literacy rate?

, (A) Bihar (B) Rajasthan (C) Orissa (D) Arunachal Pradesh

Q.7. This river was also called as the Ganges of the South, Nlame the river from the given options.

(A) God.avari (B) Krishna (C) Cauvery (D) None of these

Q.8. The weight of the man wil1be ____= on the surface of the moon of his actuai weight.

(A) One-Third (B) One-Fourth (C) One-Sixth (D) One-Fifth

Q.9. Which of the following represents the year in which Alexander invaded India?

(,4.)323 BC (8)324 BC (c) 328 BC (D) 326 BC

Q.10. The first womax chief justice ,rf the high court of India was....

(A) Fatima Biwi (B) Ruma Pal (C) Leiia Seth (D) None of these



Q.11. IdentifY the correct match:

(A) May 8 - World Health Day p) May 1 - World Literacy Day

(c) May 17 - world Telecommunication Day (D) ]une 5 - Worid ozone Day

Q.Lz. Reserve Bank of lnclia is head'cluartered at" "'

(A) Kolkata (B) Nerv Delhi (C) Mumbai (D) Chennai

Q.13. \'Vho is knr:wn as The Father of Geometry ?

(A) Euclid (B) Pythagoras (C) Flewton (D)Laplace

Q.14. lVhich of the following rays is NOT harmful?

(A) Ultraviolet rays (B) X-ravs (C) Infraretl rays (D) Short radio \ /aves

Q.15. According to the Constitution of lndia, nhich o{ the {o1lowing is NOT one of the main organs of

the Govemment?

(A)Legisiature (B) Bureaucrac,Y (C) Executive (D) Judiciary

Q.16. tr{}rat is the minimum age required to become the president, vice-president of India or Govemor

Q.20

Q.21.

]anuary 25 (B)]zrruarv 26 (C) ]anuary 27 (D) ]anuary 30

is appointecl bY the . '... '

(A) Prime Minister (B) President

(C) Chief justice of India (D) Chief justice of the concerned state high court

My passage from India is a book authored by" "

(A) E.\4. Foster $) Isnrail \4erchant

(C) Nairad C. Choudhary (D) N{ulk Raj Anand

Metals which chemically behave.both as metals and non-metals is called'

(A)Ailoys (B)Metalloids (C) Halogens (D) Chalkogens

The largest river (in terms of r;olume of r,.zater it carri-es) is....o))

(A) Nile (B) Yangtze (C) Amazon (D) I\ltississippi I\'fissouri
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\rk
. Who hoists the flag on Independence Dav at Red Fort?

(A) Prime Minister (B) President (C)Vice President (D) Chief ]ustice

Q.24. December 1 is celebrated as the ---: throughout the worlcl.

(A) lVorld Health Day (B) World AIDS Day

(C) lVortd Human Rights Day (D) World Habitat Day

Q.25. The literacy rate of India is....

(A) 57.86y" tB) 61..34"k lc) 63.95% (D) 74'37"/'

e26. Recently, which player has u,on the rnen's singles title in the Australian Open AAU?

(A)Daniil Medvedev (B) Roger Federer {C) Novak Djokovic (D) Rafael Nadal

Q.27. Yiho r,von the Football World C:up 2A22?

(A) Argentina (B)Portugal (C)France (D) Spain

Q.28. Every year on u,hose death anniversarv "Martyr's Day" is celebrated all over India on 30 ]anuary?

(A) Chandrashekhar Azad (B) Mahatma Gandhi

(C) NathuramGodse (D) Rajiv Gandhi

Bermuda is a good examPle of the:

(A) Tsunami (B) Cyclone (C) Oceanic rise (D)Volcanic eruption

Piimary rocks are the result of the follo-,ving piocess:

(A)Melting (B)Soliclification (c)Caching (D)Desertification

lAtro won the T20 Cricket World C:up 2022?

(A) India (B) Australia (C) England (D) srilanka

Ho'v-v mai:,,r,'fundamental rights were given in the beginning?

(A)s (B) 6 (c) 7 (D)4

According to the Constitution,India is best described as a*-.-_.

(A) Union of States (B) Unitary State (C) Sovereign state (D) Federation

VVhich state has the longest coastline in India?

(A) Andhra Pradesh (B) Maharashka (C) Gujarat (D) West Bengal

First case of novel Corona virus identified in India was at" '

(A) Maharashtra (B)Kerala (C) Karnataka (D)Tamilnadu

Q.2e.
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Q.34.

Q.35.



PART II - GENERAL ENGLISH

Direction: In the follcrring questicns cut af the four alternatives, chocse the cne r^,'hich. best
the meaning of the given word as yonr answer.

Q.36: CORDIAi.

(A)Frienrlly (B) Kind (C) Affectionate (D) Generous

/"\ ,) 7- Tl nT)T: rr ,\ DT E
v...rr . rrvrr L\-\-11uL.l-

(A) Upright (B) Harmless (C)Inoffensive (D)F1aw1ess

Direction: In the following questions choose the word opposite in meaning to the given word.

Q,38: DEFICIT

(A)Surplus (B)Superfluous (C) Explicit

Q.39: EVOLVE

(A)Suspend (B)Stop (C) Withdraw

Q.aO: AUGMENT

(A)Supplement (B) Decrease (C) Increase

Direction: Find in the blanks with correct Prepositions.

Q.41: My grand father rnill come here 

- 
a lveek.

(D) Implicit

(D) Withhoid

(D)Defend

D. within

D. about

D. on

D.by

D'by

D. with

D. during

D.by

D.bv

Q.42:

Q.43:

Q.44:

Q.45:

Q.46:

Q.47:

Q.48:

A. rvith B. before C. at

The lt'ork was comoleted sunset,

A. for B. in C. at

Can i'ou write 

- 
this pen.

A. with B. in C.by

lv{y father will retire from service -- a year.

A. of B. in C. on

Hecomes-acar.

A. at B. on C. with

I am angrY my sister.()J-

A. for B" to C. at

I shall meet you 

- 
6 o'clock.

A.by B. at C. in

Susanva writes her left hand.

A. on B. in C. with

O.49: Don't ooint mv mistakes.
A. on B. at

Q.50: Life is not a bed 

-. 
roses.

A. with B" of

C. out

C. for D. off
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Q.51:

Q.52:

Q.53:

find Odd word from options
Select tire odd one out

A. Banana B. h,Iango

Select the odd one out

A. Listen B. Swim

Select the odd one out

A. Screw B. Hammer

C. Cashew

C. Walk

D. Guava

D. Climb

D. Pin

D. Grasshoppers

D. iapan

D. Recommendation

C. Needle

Q.54: Select the odd one out

A. Fleas B. Parrot

Select the odd one out
A. China B.Indonesia

C. Harbor

Q.55:
C. Thailand

Direction: Select the correct spelt word.

Q.56: A. Recommandation B. Recommendation C. Recomandation

Q.57: A. Surveilance B. Survellance C. Surveillance D. Survaillance

Q 58: A. Guarantee B. Garuntee C. Caurantee D. Guaruntee

Q.59: A. Hindrence B. Hindrance C. Hinderence D. Hinderance

Q.60: A. Democracv B. Democaracv C. Democreci D. Democarcy

Part - III ARITHMATIC

Q.61.217 x277 + 183 x 183 : ?

(A) 7e6e8 (B) 80578 (C) 806eS (D) 81268

Q.62. The sum of first 45 natural numbers is

(A) 1035 (8)1280 (C)2070 (D) 2140

Q.63. The LCM of 14B and 160 is:

(A) 680 (B) 74a (c) 2e60 (D) 3700

Q.64. The LC.M. of 1/3,5/6,2/9,4/27 is...

(A) 1, / s4 (B) 10 I 27 (C) z0 / z (D) None of these

Q.65. What is 10 % of 0.01 ?

(A)0.001 (B) .01 (c)1 (D) 0.01

Q.66. A boy was asked to write the rralue of (Z)s x (9)r. He wrote it as 2592. The difference between the
obtained and the actual value is:

(A)0 (B)2XOz (C)22X93 (D)23X94

Q.67. The average of runs of a cricket player of 10 innings &,as 32. How many runs must he make in his next
innings so as to increase his average of runs by 4?

(A)2 (B) 4 (c) 70 {D)76



Q.68. At what angle the hands of a clock are inclined at 15 mi.nutes past 5?

(A) s8/z' (B) 64. tC) 67 1./2o (D) lz t/2"

Q.69. Six years ago, the ratio of the ages of Kunai and Sagar was 6: 5, Four years hence, the ratio of their
ages wiil be 1L : L0. \{hat is Sagar's age at present ?

(A) 16 yearc (B) 18 years (C) 20 years (D) None of these

Q.70. Hitesh is 40 years old and Ronnie is 60 years old. Hor*'many years ago v!,as the ratio of their ages 3:5?

(A) 5 years (B) 10 years (C) 20 years (D) 37 years

Q.71. What least number must be added to 1056, so that the sum is completely divisible by 23?

(A) 2 (B) r (C) 8 (D) 21

Q.72. After derJucting a comrnission o.[ 5o/o, a TV set costs Rs. 9595, Its marked price is..

(A) Rs.10,000 (B) Rs. 10,075 (C) Rs. 1.0,100 (D) Rs. 10,500

Q.73. The HCF of fwo numbers is 8. Which one of the following can never be their tCM.
(A) 24 (B) 48 (c) so (D) 60

Q.74.The averaple of 7 consecutive numbers is 20. The largest numbers ofthese is?

(A) 20 (B)23 (C) zr (D) 24

Q.75. Twentv women can do a work in sixteen davs. Sixteen men can complete the
days. What is the ratio between the capacitv of a rnan and a woman?

(A)3:a (B)a:3 (c)5:3 (D) Data

Q.76. 0.01 is what percent of 0.1?

(,{)1/i00 (B)L/ffi (c)10 (D) 100

Q.77. A man rt'alking at the rate of 5 km/hr crosses a bridge in L5 minutes. The length
metres) is: .i!i:,:r,' .rri

+l.]1;r,,.,::1" 
j'

(A) 600 (B) 750 (C) 1000 (D)12s0

Q.78. One of the two buses completes a journey of 300 krn in 7 lizhours and the other a journey of 450 km
in t hours. The ratio of their average speeds is:

(A) 2:3 (B) 3:a (C)a:s (D)8:e

Q.79. What least number must be added to 1056, so that the sum is completell. divisible by 23? .

(A) 2 (B) 3 (C) I (D) 21

Q.80. At what simple rate of interest a sum is double in 8 years?

(A) 11% {B)72.5Y, (C)12',/" (D) 13.s%

Q.81. A man can row upstream at 8 kmph and downstream at 13 kmph. The speed of the stream is..

(A)2.s km/hr tB) A.zkmlhr (C) 5 km/hr {D) 10.5 km/h

Q.82. Solve the following equation 24 + 4 + 4

(A) 28 (B) 10 (C) 25 (D) None of these

.::.
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If Rs. 64 amounts to Rs. 83.20 in 2 vears,'r,r,hat will Rs. 86 amount to in 4 years at the same rate percent
per annum?

(A)Rs. 114.80 (B)Rs. 724.70 (C) Rs. 127 40 (D)Rs. 137.60

Q.84. The interest on a certain deposit at4.5% pa. is Rs. 2025A in one year. How much wiil the additional
interest in one year be on the same deposit at 5% pa. ?

(A)Rs.20.25 (B) Rs.22.50 (C) Rs.2s (D) Rs. a2.75

Q.85. The difference between compound interest and simple interest on a Rs. 15,000 for 2 years is Rs" 96.

tr{hat is the rate of interest per annum ?

(A) 8 (B) 10 (C)12 (D) Irtrone of these

Q.86. When n is divided by 6, the remainder is 4. 
'When 

2n is divided by 6, the remainder is

(A) 4 (B) 2 (C) o (D) 1

Q.87. The length of a rectangle is halved, while its breadth is hipled. 14hat is the percentage change in area?

(A) 25-"/" increase (B) 50% increase (C)507" decrease tD)75% decrease

Q.88. The length of a rectangle is increased by 6A%.By what percent would the width have to be decreased

so as to maintain the same arca?

{A} 37 
" 

% (B) 60% (c) 75% {D) 120%

Q.89. How many cubes of 3cm edge can be cut out of a cube of t8cm edge?

(A) a0 G) 216 (C) 218 (D) 432

Q.90. If the volumes of trn'o cubes are in the ratio 27:1., the ratio of their ages is

(A) 1:3 (B) L:27 (C) 3:1 (D) 27:1

Q.91. At what time between 9 and 1o o'clock will the handle of a watch be together?

(A) 45 min, past ! (B) 50 min. past 9

(C) +q 7t rnin. past 9 (D) +* z/rn'in. past 9

Q.92. In a 100 m race, A can beat B by l$ m and B can beat C by 4 m. ln the same race, A can beat C by:

(A) 21 m (B) 26 m iC) 28 m (D) 2e m

Q.93. At 3.40, the hour hand and the minute hand of a clock form an angle of:

. (4)120 (8)125' (C) 130" (D)13s.

Q.94. The angle between the minute hand and the hour hand of a clock r,vhen the time is 4.2A, is
(A)0 (B) 10" (C) s. (D)20"

Q.95. What is the square root of 5o?

(A) s (B) 8 (C) siz (D) +

Q.96" The HCF o{ 2A4,119A and 1445 is
(A) 24 (B) 48 (c) s6 (D) 77

Q.97.Total sur{ace area of a cube whose side is 0.5 cm is

tA) r/+ r'n, (B) V8 cm: (C) 314 cm, (D) s/z cmz



Q.98. What least number mlrst be added to 1056, so that the sum is completely divisible by 23?

(A) 2 G)r (c) 18 (D) 21

Q.99. The angle of elet ation of the sury rn hen the length oi the shadow of tree r3 times the height of the tree,

15:

(A)30" (B)4s" (c) 60"

Q.100. Find the highest common factor of 36 and 84.

(A) + (B) 6 tC) tz

(D) 90'

(D) 18

_rs
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THE KEY \ I

FOR THE QUESTION SET FOR THE WRTTTEN EXAMTNAflON rOR SUtTAptHTy TEST FOR GRADUATE
CATEGqRY UNDER COTvIPASSIONATE GR9UNDS APPOTNTMENT HELD ON 10.03"23

S.NO ANSWER s.No ANSWER s.No ANSWER
GENERAT KNOWLEDGE GENERAL ENGLISH ARITHMATIC

I B 36. A 6,I. B

2. D 2,7 D 62. A
J. B 3B A 63. B

4. C 39 D 64. c
( C 40 B 65. A
6. A 41. D 66. A
7 C 42 c o/ D

B. L 43 A 58. B

I D 44 B AO A
,I0.

A 45 D 70 B
1itl c 46 D 71 . A
12. c 47. B 72. c
r3 A 4B c 71. D
14. D 49 c 74. B

r5. B 50 B 75. B

16. D 5,l. C 76. c
17. c 52 A 77 D

rB. B 53 B 78. C
t9 B 54 c 79 A
2A B tr( D 80. B

21 B 56. B B',r. A
22 c tr-7 C 82. C
23 A 58 A 83. D

24. B 59 B 84 B

25 D 60 A 85. A
26 D 86. B

27 A 87. B

28, B 8B A
2? c 89 B

30 B 90 c
31. C 91. c

c 92 c
33 A 93 c
34 C 94 B

35. B 95 C
96. D

97. D

98 A
99 A

,l 
00.
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